Efficiency vs dr

i

[ Efficiency vs dr (track,jet) |

L

|

—_— DQM _TT__original_option0
—_— D M_TT original_optionl
— D M“I'T_orlglnal option2

|

1
TP min AR

.§0.02
.018F
= o

5.0162—

9.014F

> o
9.012F
2 o
o -
= 0.01:
O o
0.008|

0.006F-
0.004F-
0.002F-
1.0

Ratio

[y
TTTT] T

0.95

Efficiency vs pu

107 1072

1
AR(TP, jét)

-1

-0.05

2 o
i T S S S
L R St S A
[5) . . . . . .

F e S A S S
= : : : : : ]

B S SRR AL R R

0.025F e+ fisfy--4
0.02F +++5+-+{ 1o

0.015F -+ [{}4]
0.01
0.005

J..UG-""I"'

-t
o

e i - -

o ]
T 114
2 111
| RO R

: {1

9936730 40 50 60




	Contents
	Page 1


